

$$\lim_{x \rightarrow r} \frac{rx - a}{x^r + ax + b} \rightarrow \frac{rx - a}{x^r + ax + b} = \frac{-1}{0^+} = -\infty \quad (1)$$

$$(x-r)^r = x^r - \varepsilon x + \varepsilon \rightarrow a = -\varepsilon, b = r \rightarrow a+b = \varepsilon - \varepsilon = 0$$

$$\lim_{x \rightarrow \sqrt[r]{r}} \frac{x}{x^r + ax + b} = +\infty \rightarrow \frac{\sqrt[r]{r}}{0^+} = +\infty \quad (2)$$

$$(x - \sqrt[r]{r})^r = x^r - \sqrt[r]{r} x + r \sqrt[r]{r} \rightarrow a = -\sqrt[r]{r} \quad b = r \sqrt[r]{r}$$

$$\left[\frac{b}{a} \right] = \left[\frac{\sqrt[r]{r}}{-\sqrt[r]{r}} \right] = \left[\frac{r^{\frac{1}{r}}}{-r^{\frac{1}{r}}} \right] = -1$$

$$\lim_{x \rightarrow \frac{1}{\sqrt[r]{r}}} \frac{[-x] + a}{\left| \frac{\sqrt[r]{r}}{r} x + a \right| + a} = -\infty \rightarrow \text{برای این جواب } -\infty \text{ شرط لازم است}$$

بفرض $\frac{1}{\sqrt[r]{r}} > a$ یا $\frac{1}{\sqrt[r]{r}} < a$

$$\lim_{x \rightarrow \frac{1}{\sqrt[r]{r}}} \frac{-1+a}{\left| \frac{1}{r} + a \right| + a} = -\infty \quad \begin{matrix} a > \frac{1}{\sqrt[r]{r}} \\ \frac{1}{\sqrt[r]{r}} > a \end{matrix}$$

$$\frac{-1+a}{\frac{1}{r} + a} = -\infty \quad \star$$

$$\frac{-1+a}{\frac{1}{r}} = -\infty \rightarrow \text{اما } -\infty \text{ جواب نیست}$$

$$\star \frac{-1+a}{\frac{1}{r} + a} = -\infty \Rightarrow \frac{1}{r} + a = 0 \rightarrow a = -\frac{1}{r} = 0^+ \rightarrow \text{شرط لازم است}$$

$$\left[-\frac{1}{r} \right] = -1$$

$$\lim_{x \rightarrow -\frac{1}{r}^+} \frac{14x - \left[\frac{-r}{x^r}\right]}{r \varepsilon x + \left[\frac{r}{x^r}\right]} \Rightarrow \frac{14x - \frac{1}{r} - \left[\frac{-r}{x^r}\right]}{r \varepsilon x - \frac{1}{r} + \left[\frac{r}{x^r}\right]} = \frac{-1+9}{-1r+1r} = \frac{1}{0^+} = +\infty \quad (K)$$

$$\lim_{x \rightarrow r^+} \frac{x^r - \varepsilon}{x^r - [x^r]} = \frac{(x-r)(x+r)}{x^r - 1} = \frac{(x-r)(x+r)}{(x-r)(x^r + r x + \varepsilon)} = \frac{\varepsilon}{1r} = \frac{1}{r} \quad (a)$$

$$\lim_{x \rightarrow -1} \frac{x^r + 10x + 19}{1r + 4^r \sqrt{x}} = \frac{(x+2)(x+1)}{4(r+\sqrt{x})} = \frac{(x+2)(x+1)(r+\sqrt{x})^r - r^r \sqrt{x}}{4(1+x)} \quad (4)$$

$$= \frac{(-1+2)(\varepsilon+\varepsilon+\varepsilon)}{4} = -1r$$

$$\lim_{x \rightarrow 0^+} \frac{\sqrt{r+x} - \sqrt{r-x}}{\sqrt{1-\cos x}} = \frac{r+x - r+x}{\sqrt{1-\cos x}} \times \frac{\sqrt{1+\cos x}}{\sqrt{r+x} + \sqrt{r-x}} = \frac{r x}{|\sin x|} \times \frac{\sqrt{r}}{r\sqrt{r}} = \quad (V)$$

$$\frac{r x}{(-\sin x)r} = (-1) \quad (f)$$

$$\lim_{x \rightarrow 0} \frac{k + \cos(\sqrt{a}x)}{1kx^r} = r \Rightarrow \frac{k+1 - \frac{ax^r}{r}}{kx^r} \Rightarrow \text{در این مرحله } k \neq -1 \text{ زیرا مخرج صفر نمی شود} \quad (A)$$

$$\frac{-ax^r}{1kx^r} = \frac{-a}{1k} = r \Rightarrow \frac{a}{k} = -r$$

Subject : _____

Date: _____

$$\lim_{x \rightarrow \sqrt{a}^+} \frac{\sqrt{x} - \sqrt{a} + \sqrt{x} - \sqrt{a}}{\sqrt{x} - \sqrt{a}}$$

(9)

$$\lim_{x \rightarrow \sqrt{a}^+} \frac{\sqrt{x} - \sqrt{a}}{\sqrt{x} - \sqrt{a}} + \frac{\sqrt{x} - \sqrt{a}}{\sqrt{x} - \sqrt{a}} = \frac{1}{\sqrt{x} - \sqrt{a}} + \frac{1(\sqrt{x} - \sqrt{a})}{(\sqrt{x} - \sqrt{a})(\sqrt{x} + \sqrt{a})} \Rightarrow$$

$$\frac{1}{\sqrt{x} - \sqrt{a}} + \frac{1(\sqrt{x} - \sqrt{a})}{(\sqrt{x} - \sqrt{a})(\sqrt{x} + \sqrt{a})} \times \frac{(\sqrt{x} + \sqrt{a})(\sqrt{x} - \sqrt{a})}{(\sqrt{x} - \sqrt{a})(\sqrt{x} + \sqrt{a})} = \frac{1}{\sqrt{x} - \sqrt{a}} + \frac{1(x - a)(\sqrt{x} - \sqrt{a})}{(x - a)(x + a)(\sqrt{x} + \sqrt{a})}$$

$$= \lim_{x \rightarrow \sqrt{a}^+} \frac{1}{\sqrt{x} - \sqrt{a}} + 0 = \frac{1}{\sqrt{a} - \sqrt{a}} = \frac{1}{0} = \infty$$

$$\lim_{x \rightarrow -1^-} \frac{1 - \cos kx}{x + 1} = -\infty \quad (k \neq 0, \cos k\pi)$$

(10)

$$\lim_{x \rightarrow -1^+} \frac{1 + k}{x + 1} = \frac{1 + k}{0^+} = -\infty \quad \frac{-}{+} = - \quad 1 + k > 0 \Rightarrow k > -1$$

$$\lim_{x \rightarrow -1^-} \frac{1 + k}{x + 1} = \frac{1 + k}{0^+} = -\infty \Rightarrow 1 + k < 0 \Rightarrow k < -1$$

$$-1 < k < \frac{1}{2} \rightarrow -\frac{\pi}{2} < k\pi < \frac{\pi}{2} \rightarrow \text{first quadrant}$$

$$\rightarrow \cos \frac{\pi}{2} < \cos k\pi < \cos \frac{\pi}{2} \rightarrow \text{first quadrant}$$

$$-1 < \cos k\pi < 0$$